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Question Number : 1 Question Id : 4509387041 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

: o g2 g oy PLEES wqf 2 ;
The range of the real valued function f(x) = Sin l(z—j)-l-ﬂos l(r;) is

L=

j —2 Vi ") & o
f(x) =Sin™ (1?? ) + Cos™! (12x ) O T SO (TDOHO G0EY 5
X i

432 =

Options:

)

1.4



-

Question Number : 2 Question Id : 4509387042 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The real valued function f: R — E 03) defined by f(x) = [2x + 1| 4 |x — 2] 1

f(x) = [2x + 1] + |x = 2| T° QI $I0DDE f: R — E,oo)gﬁ“@é STOSD0N0
Options:

One-one function but not onto

@ 5% |DNCAHO 52 o0 5°¢H

1. #

Onto function but not one-one

DOHR 1HDONO 5°Q) 9T 580 5°¢H
2. %

Bijection

& 5HED |HDADO
3. ®

Neither one-one function nor onto

@3 58 |DON0 57D DOHR [HDDAHO 52D



Question Number : 3 Question Id : 4509387043 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If135+3574+579+ nterms=n(n+1)f(n) —3n.then f(1) =

135+ 3574579+ - nadme® =nn+ 1)f(n) — 3n SO0 1) =

Options :

9
1.+

11
2. %

12
3. %

3
4, ®

Question Number : 4 Question Id : 4509387044 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
1 2 2 g
H34=1|2 1 —2| and AAT =1, then ~+— =
a 2 b

1 2 2
34 = [2 1 —2‘ DB AAT = I ©ONS, %+E:
a 2 b

Options :

1.



13
6
2. ®
13
6
3. #
4. &

Question Number : 5 Question Id : 4509387045 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
d-tht2e a b
c b+c+ 2a b =
c a ct+a+2b
Options :
(a+b+c)?
1. %
2(a+b+c)?
2.
3(a+b+c)?



(a+b+rc)

Question Number : 6 Question Id : 4509387046 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Assertion (A): If B is a 3 X 3 matrix and |B| = 6. then |Adj(B)| = 36
Reason (R): If B is a square matrix of order n, then |Adj(B)| = |B|"
36565 1) (A): B 906 3 x 3 2P| o0BC% [B] = 6 0N, |Adj(B)| = 36
S0 (R): B @R nsd G ed| S| @8 @ond, [Adj(B)| = |BI"

Options :

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(A) 080N (R)2 O €550 20B05 (A) QN8 O 306 (R)

Both (A) and (R) are true but (R) 1s not the correct explanation of (A)

(A) B0 (R)&N O 6550, 5°R) (A) CE) BN 2addea (R) 2D

(A) 1s true but (R) 1s false

(A) D550, 57 (R) €9deds0
3. ¢

(A) 1s false but (R) is true

(A) €650, 5% (R) QdebsO



Question Number : 7 Question Id : 4509387047 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

: I i B .
Imaginary partof —— 15
Bary b (2—i)(3-21)

a3 :
D Rng) €O36b ariian

(2—i)(3—-2i)
Options :
22
65
1. %
6
65
2. ®
6
65
3. ®
22
65
4.«

Question Number : 8 Question Id : 4509387048 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The square root of 7 + 241

7 4 24i QA5 DQoFOO

Options :



4 — 3i

1. ®

3+41
2. %

3~y
3. %

e
4.«

Question Number : 9 Question Id : 4509387049 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If n is an integer and Z = cos @ + isinf,0 # (2n+ 1)<, then =
“ 21—z
oo i . | - 1+Z2n
n 2.8 QYdops SNOAN Z = cosf +ising, 0 = (2n+ 1) OV, e
Options :
[ tan nf
1. %
i cotnf
2.
—itann#
3. %



—i cotnf

Question Number : 10 Question Id : 4509387050 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

xZ-x+1

If x 1s real and , f are maximum and minimum values of g respectively thena + f =
e L

xZ-x+1

£ OO T A0S OO 08}, (2 SHO0I §a) DENDEN SR

x2+x+1

a,f NS a +f =
Options :

10

3

Lo o

W

Question Number : 11 Question Id : 4509387051 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If ¢ is a common root of x% —5x +1=0and x> —8x — 24 =0 (4 # 0) and B, y are the other
roots of them, thena + f +y + 4=
¥ =541 =0:08000 x* —8x — 21 =0( £ 0) O Ga1E HFOO @ DA 7R

2658 Srere) fy OONB a + f+y+1=

Options:

0
1. %

=
2. %

1
3.¢

2
4, %

Question Number : 12 Question Id : 4509387052 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The equation x* — x* — 6x% + 4x + 8 = 0 has two equal roots. If @, f§ are the other two roots of
this equation then a® + % =

oot 44820 O ONEOTIE Tod Sreren Odrdsn. &

Ha08tea0 GR8) @ede TO SOPErPe o, f € OB, a? + 2 =

Options:

4
1. %



-1

Question Number : 13 Question Id : 4509387053 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The condition that the roots of x* — bx? + cx — d = 0 are in arithmetic progression is

G-brl4er-d=0 ©% SDEITE Mo Sreren @oYEAS GokErNS
Q0.
Options :

9ch=2b*+27d
1. %
9¢ch =2d3+27b

9cd =2d3+27 b

Sed =2b% +27d



Question Number : 14 Question Id : 4509387054 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

There are 6 different novels and 3 different poetry books on a table. If 4 novels and 1 poetry book

are to be selected and arranged m a row on a shelf such that the poetry book is always i the

middle. then the number of such possible arrangements 1
2,8 DO 6 J05D SI0EN OO 3 FT 4 ACIF NTED GO0 4 IO
00 1 658 IS oNE T2 28 SRS 2.8 NO) D 98B, Heds

850 O S5S OBV DedTh; 6 886 H0;

Options :
270
1. %
180
2. %
3 % 540
1080
4. &

Question Number : 15 Question Id : 4509387055 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If a five digit number divisible by 3 15 to be formed using the numbers 0. 1. 2. 3. 4 and 5 without

repetition. then the total number of ways this can be done 1s

308 BRom 0, 1. 2, 3, 4 DO 5 NOVOD T 3 T arfonad Hch

9036 NODLD DEYTONRE), AN TOVHOT BR) AT O3



Options :

1% 120

144
2. %

192
3. %

216
4,

Question Number : 16 Question Id : 4509387056 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Four digit numbers with all digits distinct are formed using the digits 1. 2. 3. 4. 5. 6. 7 m all
possible ways. If p 1s the total number of numbers thus formed and ¢ 1s the number of numbers

greater than 3400 among them, then p:q =
1. 2, 3. 4.5 6. 7 ©030008PH00) 2D ©05en fe Tenfose oL
3ahs @) AT BT, ©erotd HowIONoDs p B0 TS
3400 50T AT DODSON0DS g GOVS pig =

Options:

3:2



Question Number : 17 Question Id : 4509387057 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the ratio of the terms equidistant from the middle term in the expansion of (1+x)™ is

1 | : A .
756 (x € N) then sum of all the terms of the expansion (1) is

(x € N) D605 (1402308 DAGSD 38 D8 D0G DSPIErE0S &)

Bodh Ao )8 — o8, (142266 S &) HTe Indo
Options:
412 op 61

312 or 512

. ) ]
612 or 7

Question Number : 18 Question Id : 4509387058 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
2+l

(1+)(1-2x)

In the expansion of . the sum of the coefficients of the first 5 odd powers of x is

Zrtl

T g, ANGRS BRSTFEOD §ORS NG 5570 Hese 3o

Options:

§ . s
skl — 1)

1. ¢
5 8[45 5
TR
2. ®
-5 8{_45 i3
3 T
3. %
5 8
-+ =4+l
T )
4, %

Question Number : 19 Question Id : 4509387059 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



% x+2 _Ax+B+C.\'-|—D+Erq:3+F:r2—|—G.\'—I—H
(2 +3)(x* +x2)(x2+2) x2+43  x2+42 xt+ 22
then (E+F) (C+D) (4) =

x-f 2 _A,E-I-B_I_CJZ-l-D_J_EIS-|-FI2-|-G1'+H
2+t + )2 +2) 2243 x2+2 x* + x2

©ON®, (E+F) (C+D) (4) =

Options :
1
1. % s
3
2. ® 4
3
4
3. %
]
4, 4

Question Number : 20 Question Id : 4509387060 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If A, B, C are the angles of triangle then sin 24 — sin 2B + sin 2C =

A,B,C e (3202 Sere)) e90We sin 24 — sin 2B + sin2€ =

Options :



4cosAcosBsinC

decosAsinBcosC

AcosAsinBcosC —1

4sindcosBsinC

Question Number : 21 Question Id : 4509387061 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Assertion (A)If A =10°B =16°C = 19° then

tan 2A tan 2B +tan 2B tan 2C +tan 2C tan 2A=1

Reason (R): TfA+B+C = 180°, Cot g + Cot g + Cot % = Cot gcm %Cot g

Which of the following is correct?
QR)e565 530 (A): A = 10°, B = 16°,C = 19° 000

tan 2A tan 2B +tan 2B tan 2C +tan 2C tan 2A =1

S"5£9a30 (R): A+B+C = 180° ©QWA Cot = + Cot =+ Cot = = Cot >Cot =Cot =

%1800 FS O DOTSE?
Options:

Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(A) 2B (R) 0 BOCET D500, (A) 0305} 8 @00 el (R)
1.4



Both (A) and (R) are true and (R) 1s NOT correct explanation of (A)
(4) DA (R) €0 BOET dedgad), (A) B30E), OONN 2edBE (R) 5°CD

(A) 1s true, (R) 1s false

(A) €8EDN, (R) @65 £030)
3. %

(A) 1s false, (R) 1s true

(A) @653, (R) fd€8 500
4. %

Question Number : 22 Question Id : 4509387062 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

- - i, 1
If & is in the 3 Quadrant, § is in the 2% Quadrant such that tan @ = -, Sl = = then
y
sin (2a+ )=
i 1 " —
tana ==, sin f = ﬁ@i_ﬁ)ué\j@ & AP PEOS S, B BOC FH0S ST GOD,
b

sin (2a + )=

Options :

3 x 10

25

3

-
ft
=



25410
3.«
V10
3 %75
4. %

Question Number : 23 Question Id : 4509387063 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Number of solutions of the trigonometric equation 2 tan 26 — cot 264+1=0 lymg in the interval
[0, 7] 15
4 &" A
2tan 28— cot204+1=0 X (BFMSAD HVEIEFIE [0,1] ©0SI0S 0%

EATN SN0}
Options:
2
1.% 7
3
2. %
4
3.¢
5
4. %

Question Number : 24 Question Id : 4509387064 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

. . e b M.
The real values of x that satisfy the equation Tanx+Tan2x = L

Tanlx+Tan12x = E DendBeT) ¢ho) DO x CIVE} TQad NIV

Options:
—3+17
1. % =
—1+V3
2. %
V3—1
3. %
wﬁ — 3
4. & 4

Question Number : 25 Question Id : 4509387065 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

= A =i 1 ()
2coth*(4)+sech (5)—
Options:

log 5
1.4



3log2
3. %

i 5

G e

3
4. %

Question Number : 26 Question Id : 4509387066 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If 7 and 8 are the lengths of two sides of a triangle and ‘a’ 1s the length of its smallest side. The
angles of the triangle are m AP and ‘a’ has two values aj and aj satisfying this condition. If a1< a;

then 2a;+3a) =

2,8 (@32)230 GR¥) Do 292re Fedhen 7, 8 HAAD T §0a) 2H20 sFche) @’
B2Hz0 G308, Seren AP S om0 B & A0DTA) SynndE a § e

T30 eNIEN a1 BN 4. A< A (%‘)(11}@ Jartim =

Options :

15
1. %

21
2.

24



Question Number : 27 Question Id : 4509387067 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

C 3
o iy - 2 — — T e—— '._: "y ——
In AABC.ifa=13.b=14 and cos == then 2r1

c 3
A ABC S’ a=13.b =14 20805 COS—~ = —. €900 211 =
2 Vi3

Options:

28

Question Number : 28 Question Id : 4509387068 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
In AABC.if (i, —ry)(r3 —ry)=2ry13then 2(r + R) =
P o - : :
AABC® (1, — 1) —1)=2r513 0N 2(rER) =

Options :



a+b

1. #
c+a
2. ®
s C— A
21-’211(‘.05( )
2
3. %
e B—-C
Z'u'ZRms( )
. 2
4,

Question Number : 29 Question Id : 4509387069 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If i—2j+ 3k, 20 + 3}'—@, g 2k are the position vectors of three points A. B, C

respectively. then A. B, C

i—2j+3k 20+3j—k —3i—]— 2k &0 ST A, B, € &% -2ch Doy T

HOIBS, @920 A, B, € &0
Options :

are collinear points

DB Dochyen

1. %

tform an 1sosceles triangle which is not equilateral

DDETETV (38022650 TR Do 52TV (32502370 SO ON
2. %



form an equilateral triangle

QDadeFTeT (320277 DG ETToN
3.¢

form a scalene triangle

DDV 83202770, DB IBTTOW
4. %

Question Number : 30 Question Id : 4509387070 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If @ b, T, d are position vectors of 4 points such that 2@ + 3b + 5¢ — 10d = 0, then the ratio
in which the line joining  and d divides the line segment joining @ and b is

20+ 3b + 5¢ - 10d = 0 93N &) Tenth Docye T ddien a, b, ¢, d

L

©ONS, )0 ¢, d 9§02 B9 @, b 0 07 Tar DO AB20T A

o

Options :

2:3
1. %

— 12
2. ®

2:1
3. %

32



Question Number : 31 Question Id : 4509387071 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Ifa b, ¢ are 3 vectors such that |a] = 5,

E_}‘ =8,|el =11and @ +b+¢ = 0 then the angle
between the vectors @ and b is

o3

@b ¢ o0 |a] =35

b| =8¢ =11 OO @ +b+& =0
HOFES, 706050 b G g S0

[
[a=3]
£
o i
2

[
L)

@&

Options :

Caos™t

| e

Cos™122
11

Cos 12

w A

Question Number : 32 Question Id : 4509387072 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Angle between the planes 7. (12? + 4 — 3%) =5and . [SE 135+ 41) =718

7.(12i + 47 — 3k) = 5 0005 7. (57 + 3] + 4k) = 7 ey hcdsiier o
(12 + 4 — 3k) j ;

Options :



Question Number : 33 Question Id : 4509387073 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The shortest distance between the skew lines
7= (20— ) +e(i +2k) andT = (<20 + k) +5(i—j - k) is
7= (2i-7) +o(i +2k) DO T = (-2 +k) + (i - ] - k) eodraded Tave ahoesg fiey
§0: (60

Options :
3v2
V7

1.+



V7
3
wﬁ
3. ®
4
‘uﬁ
4. %

Question Number : 34 Question Id : 4509387074 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The coetfficient of variation for the frequency distribution is

¥ 4 3 1

Ji 1 3 5

Xi 4 3 1
fi 1 3

9 DP2NS DT dveT 080

z

Lh

Options:
50
V3
1. %
125
23



V2
3. ®
100
=
sv V3

Question Number : 35 Question Id : 4509387075 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If all the letters of the word ‘SENSELESSNESS’ are arranged in all possible ways and an
arrangement among them 1s chosen at random then, the probabulity that all the E's come together

in that arrangement is
‘SENSELESSNESS” 930850 @) @370 IRV, DTN ©a0B),
TE3:008 2.8 @005 arSyRE0m Jotno®), 8 @84S Een @) 9%

2,856 GoG@RE e Hogrdsed

Options :
i1
990
1. %
2
143
2.
120



4w 429

Question Number : 36 Question Id : 4509387076 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If two numbers x and y are chosen one after the other at random with replacement from the set of

number {1,2,3 ..., 10}, then the probability that |x — 2| is divisible by 6 is

W, W ‘5‘9 W o W, (i) .

50aPs DS (12,3 ..,10) D0, B3 50Dz BBA SRS VE T

OSPS5O TOCH 0D 1, ¥ O 23T Sared HOBLEE DOTHHOD),

1% — % 936 6 D 2rRoNErRS ey dozrsse

Options :
1 % 25
6
25
2. %
3
10
3.¢
13

50



Question Number : 37 Question Id : 4509387077 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Bag A contains 3 white and 4 red balls, bag B contains 4 white and 5 red balls and bag C contains

5 white and 6 red balls. If one ball is drawn at random from each of these three bags. then the

probability of getting one white and two red balls is

J0D AS 38O HBCI 4 B 2odewr, HoD B &S 4 BOD B0 § B
2007 B0 0D € ' 5 BOR HOO 6 |5 0BT &) 0. & Jrch

J0WOS H8 TR HOG 258 V0B OFGIDEOMT SRKNID, 2.8 BOY
08I TOh BR 20D FPOCTETAS (10 D0TPged

Options :
268
693
1. %
310
693
2. ®
38
99
3. %
26
63
4.«

Question Number : 38 Question Id : 4509387078 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Two persons A and B throw a pair of dice alternately until one of them gets the sum of the
numbers appeared on the dice as 4 and the person who gets this result fust 1 declared as the

winner. If A starts the game. then the probability that B wins the game 1s

O 50en 4 HOAK B, 28 236 FPOEOMD 2,850 ST HTED 8 FIO D
OB 0PSO IS 4 ST SO GFOT Hiokn & O, SO
0B H580 TODN FAM (NI, €8 86D HVONT 4 I DES, &
a6 B TOT H0erdseh

Options :
11
1.+ 2
1
2
2. %
5
3 % i
8
17
4. ®

Question Number : 39 Question Id : 4509387079 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



An un contains 3 black and 3 red balls. If 3 balls are drawn at random from the urn. the mean of

the probability distribution of the number of red balls drawn 1s

2,8 SBES 3 IO HOOM 5 NI 0T 0N, & TS H0d AFGHRZom
3 2008 20005 87, HDIS IR 20RO J0P; B, VOLTE
DTS OR0S), @08 D50

Options :
45
1% 28
15
2. v
2
3. % 5
4, ®

Question Number : 40 Question Id : 4509387080 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
If X ~B(5,p) is a binomial variate such that p(X =3) = p(X = 4). then p(|X - 3| < 2) =
A

p(X = 3) = p(X = 4) @TDEDT X ~B(5,p) 2,8 O 53¢ DG ©ans,
p(lX-3

< 2) =
Options :

1. %



242

243
201
243
2. %
200
243
3.v
121
243
4. %

Question Number : 41 Question Id : 4509387081 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The perimeter of the locus of the point P which divides the line segment Q4 intemally in the ratio

1:2. where A = (4,4) and Q lies on the circle x® + y2 = 9. i

A= (4,4) B0 0 T DocdIeD 2% +17% = 9 3 GOLFON. @) 1:2 ABS

OO Q4 & ©0edehor D203 Hoha) P 08 DoaG0 &R0

Options :
1% 81
41

2.



Question Number : 42 Question Id : 4509387082 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Suppose the axes are to be rotated through an angle 6 so as to remove the xy form from the

equation 3x% + 2v3xy + y% = 0. Then in the new coordinate system the equation

22+ v + 2xy = 2 is transformed to

32+ 23y +7% = 0 9058800 H0d 1y HTOD SofodEAE B0 28

006 § 500 BP0 R0, 9D FH AEFHE S5

472+ 2xy = 297 SDEB80 2 ErH0S Eraroeto Tothenod.

Options :

(2+V3)x24+(2—V3)y2+2xy =14
‘-{af")

1.

(2—V3)x2+(2+V3)y2 —2xy =4
2. ®

x4y — 2(2 = w"i)_ty = 4(_2 = xa
3. %

2+ y2+2(2 +V3)xy = 4(2 +V3)



Question Number : 43 Question Id : 4509387083 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Pis apoint on x + y 4 5 = 0. whose perpendicular distance from 2x + 3y + 3 = 0is /13, then

the coordinates of P are:
x4y +5=02 0 28 Doe) P D0G 2x +3y+3=0 % o ooadrdo V13
9ONB, P GR0E) AGFHTED:

Options :
(20,—25)

(V13,-5 —+/13)

Question Number : 44 Question Id : 4509387084 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Ford. p€R (x—2y—-1)+4(3x+2y-11)=0and
(3x + 4y —11) + p(—x + 2y — 3) = 0 represent two families of lines. If the equation of the

line common to both the families 1s ax + by =5 =0.then 2a + b =
LuEROR (x—2y-1)+A(3x +2y - 11) = 0 0O
Gr+dy—10)+u(-x+2y-3)=0 & OFHN0TOD Do, B0

89EN02rOE) a0 T0E) HEGEI0 ax +by —5=0 SONB 2a+b =

Options:

Question Number : 45 Question Id : 4509387085 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If the pair of lines represented by 3x% — 5xy + Py? = 0 and 6x% — xy — 5y% = 0 have one line

in common. then the sum of all possible values of P 15

352 —5xy + Py? =0 OO 632 —xy -5y =0 ON 0T TaromEn 2.8

0D €oaAT $OR GO P 5 AP¢H3anaN; @A) Dene) SBein

Options :



2. %
33
4
3. %
17
4w °

Question Number : 46 Question Id : 4509387086 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Area of the region enclosed by the curves 3x2 — y? — 2xy + 4x + 1= 0 and

3t —yr—2xy + 6x + 2y = 0is

-y -2y +dxr+1=0 OO -y -Zxyt6x+2y=0 é@ém@g

TR (200 QBE) ITOL0

Options :
3
1. %
1
2. v 4
1



i

Question Number : 47 Question Id : 4509387087 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the equation of the circle whose radms 1s 3 units and which touches internally the circle

¥* 4y —4x -6y —12 = Oat the point (=1,-1) is x* +y? + px +qy +1 = 0. then

pte-r=

3 QPR arsardein (OR (-1, ~1) 2)0Da) ) el 2 + y2 —4x — 6y —12=0

0 ©OSEOM 9930T SYB0 SDEBE0 x2 +y2 4 pr +qy +1 = 0 @ONSB, ©)cH
g

Dg—T
Options:
2
1.« =
3./ 2
2. %
26/5
3. %
.3
4. %

Question Number : 48 Question Id : 4509387088 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The equation of the circle touching the circle x% + y% — 6x + 6y + 17 = 0 extemally and fo
which the lines x* — 3xy — 3x + 9y = 0 are normal is
a0 12 4 % = 61 + 6y + 17 = 0 & APTS0M )93 SHO0I Ben

x? = 31y - 31 4 9y = 0 % 9DOOVOT &OT S9S0 T AadEBEID
Options :

xZ 4y —3x4+2y—2=0

1. %
x2+y2—6x—2y+1=0
2.
x2+y2+6x—2y—1=0
3. %

x24+v2—9x—-3y+2=0

Question Number : 49 Question Id : 4509387089 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The pole of the straight line 9x + y — 28 = 0 with respect to the circle
2x8 +2y - 3x+5y-7=01s
NS0 202 4 272 — 314 5y — 7 = 0 ks OESOD 9 +y—28 = 0 G0 Seded

Options:

1. %



2. %

(3;~=1)
3. %
4, %

Question Number : 50 Question Id : 4509387090 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The equation of a circle which touches the straight lines x + y = 2, x —y = 2 and also touches
the circle x2 + y? = 1 s
x+y=2 1-y=2 AFTDOD HOAW 12 472 =1 JyBalned $r@ )Y30D

2,8 oy Bai G308) AabESeasn

Options :

(x+vV2)2+y?=3—+2

(ot V2R Ly =122

(x—V2)* +y? =201 —2)

(x—V2)2+y2 =322



Question Number : 51 Question Id : 4509387091 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The radical axis of the circles x + y2 + 2gx + 2fy +¢ =0 and

2x2 4+ 2y% + 3x + 8y + 2c = 0 touches the circle x* + y2 + 2x + 2y + 1= 0. Then

P4y +2gx+2fy+e=0 OO 222+ 2y2 +3x+8y + 20 = 0 JySSve) Ay

PO @80 x? 4 y2 4204 2y +1= 0 Q93008 €95 )

Options :
3
g:—grf:
1. %
g:—grj‘ =
2. %
g:—grj‘ =
3. %
3 .
=g = 2
4, &

Question Number : 52 Question Id : 4509387092 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If the ordinates of points P and Q on the parabola y* = 12x are in the ratio 1:2. then the locus of

the point of mtersection of the normals to the parabola at P and Q 1s

y2 = 12x JTIO0D0 2 10 Dochahen P OO Q © TS y- AEFISEN 12
A8 & &OB, P OGN Q © SO & STHONTRS e @020 BOChS
20CDeY) B3N8 oG

Options :

3/2

+¢8F_ ) < )
Y 21 -

1.4

X_'El 3,-"2
=—18( ) =0
) 12

2. %
x_{_-’l,.-"z
7 12( ) =5
v+ 1a
3. #

X_Glj;z
y—12(_ ) =1
18

4, %

Question Number : 53 Question Id : 4509387093 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



. : : . B i
The product of perpendiculars from the two foci of the ellipse ) + E = 1 on the tangent at any

point on the ellipse 1s
2 2
% +% = 1 8 Syehaid B0 Bock @200 oG Bdyehay ) D)

HET® 110 60D 3 HAS ©202 Erdaine OLain

Options :
6

1. %

2. ® 7

3. % 8
9

4.

Question Number : 54 Question Id : 4509387094 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
The value of ¢ such that the straight line joining the pomnts (0,3) and (5,—2) is tangent to the
C

curve y =——18
x+1

(0,3) 00 (5,-2) DodOd §0D b, Sgm y = é 36 H1630

S0CDE, ¢ BNE) AN

Options :



2. ¢

3%
2

4. %

Question Number : 55 Question Id : 4509387095 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
The descending order of magnitude of the eccentricities of the following hyperbolas is
A. A hyperbola whose distance between foct is three fimes the distance between ifs
directrices
B. Hyperbola in which the transverse axis is twice the conjugate axis
C. Hyperbola with asymptotes x +y+1=0, x—y+3=0
& A B0 ©BNTHO0IFS HYBLOIGO HBSTETOTNE), @8 ere (50
A e Heds Grdan, TR Aahes Tpey N3 e GroeRd Srch 3en
GOB 9BITHONMN
B. &35 98 o0, H00NMS S8 TE0)T 0T BT HO0H

Cox+y+1=0 x—y+3 =00 8306 SIF0DENT (fe) 0eNTHO A

Options:
C.AB
1. %
B.C.A
2. %



C.B.A

AC.B

Question Number : 56 Question Id : 4509387096 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If the plane x — y + z + 4 = 0 divides the line joining the points P(2,3,-1) and Q(1,4,-2) in

the ratio : m. then [ + m 1s

r—y+z+4=0 00, P23,-1) N0 0(1,4-2) DothHod O

a oh =
Oar0@) Lm @J};@@ DB, [+m=

Options :
1. % 1

3
2. v

=]
3. %

4
4, %

Question Number : 57 Question Id : 4509387097 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If the line with direction ratios (1,&,f) is perpendicular to the line with direction ratios
(—1,2,1) and parallel to the line with direction ratios (e, 1, §). then (, ) is

(1,a,8) 65 ARDOT 6B 09 (-1,2,1) BF A0S 6T 028 ©020T
260 (g1, B) BF ANNOS NI TH) AT0SEOT GO (a,§) =

Options :

{=A=1)
1. %

(—1,3)

(1,1)

Question Number : 58 Question Id : 4509387098 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Let P(xy, 4, 2y) be the foot of perpendicular drawn from the point Q(2,—2, 1) to the plane
x—2y+z=11Ifd is the perpendicular from the point @ to the plane and [=x; + ¥, + 2.
then [ 4 3d? is

P(xy,v,21) ©R0 0(2,-2,1) DNy Hod x-2y+z=1 &F derd& e00m
AR ardie. 0 od Serd8 e ©02 AT ‘@ DO0W [=x + yi+ 7
©oNB 14 3d =

Options :

1. %



—

2. ®

19
3.4

26
4. %

Question Number : 59 Question Id : 4509387099 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

(sin{r{ cos®x) )
lim <)z

x—0 x2

Options :

—T

ra| =



Question Number : 60 Question Id : 4509387100 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

lim
x—1

e o e ST S LB
¥yr—1

Options :
n(n+1)
2
1.«
n+1
2
2. %
2
n
3. %
n
4, %

Question Number : 61 Question Id : 4509387101 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

. , ; Yi+x—-1 , .
If the function f (#)= is continuous at x = 0 then f(0) =
“ 'Vll_l_x_l W W o i Gl
Tl = & D00 x = 03¢ DN 0 @ £(0) =
X

Options :



1. #
1
2. % 3
1
2
3.
3
4, %

Question Number : 62 Question Id : 4509387102 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If3f(x) —2f G) = x then f'(2) =
3f(x) —2f G) = x @OV f'(2) =

Options :
1% 1
1
2
2. ¢
2



Ko | ~1

4. %

Question Number : 63 Question Id : 4509387103 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

d (1+x2+x4

If—
dx \ 1+x+x2

) =—ax+b then (a,b) =
: -2 o
%(%) —ax+b ®ONS (ab) =

Options:

(—1,2)
(—2,1)

(2,-1)

(1,2)

Question Number : 64 Question Id : 4509387104 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Ify=sin"'x then(l—x3y,—xy, =

y =sin"1x HOND (1—x®)y, —xy; =

Options :
0
1.+
1
2. ®
2
3. %
2y
4. #

Question Number : 65 Question Id : 4509387105 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If the percentage error in the radius of circle is 3. then the percentage error in its area is

sl o

5 c'\'S o o a
2,8 598 arsardodS a0 3 @and o) FFO0S BaFe0

Options :
6
1.+
3
2
2. ®
2



Question Number : 66 Question Id : 4509387106 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The equation of the tangent to the curve y = x* — 2x + 7 at the point (1, 6) is

Y4

y=x%— 20+ 7O HE0 NG (1,6) ©F Doy ¢ 03609 HebESeasn

Options :

y=x+5
1.4

x4y =7
2. %

2x+y=28
3. %

s U o il
4. ®

Question Number : 67 Question Id : 4509387107 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The distance (s) travelled by a particle in time 7 is given by s = 4t2 + 2t + 3. The velocity of
the particle when t = 3 seconds is

2.8 5600 t N0HOS (HOIPEBONN SPGO (8) o 5= 462 + 2t +3 T B RASE,
ON® ¢ = 3 ¥ S0 §90 Ty Stfo

Options :

26 unit /sec
1.4

20 unit/sec

2. ®

24 unit /sec
3. %

30 unit /sec
4. %

Question Number : 68 Question Id : 4509387108 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If a®x* + b?2y* = ¢® then maximum value of xy =

aZxt + b2yt = ¢® @O xy ABNEY (105 end =

Options :

{._,3

2ab



c
'\f"z{'f.b
2. %
&3
ab
3.
o3
Vab
4, %

Question Number : 69 Question Id : 4509387109 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

" 5in® x
3 dx =
cos® x

Options :

tan 7x + ¢

tan 7x

|

.

,



-
Secx

Question Number : 70 Question Id : 4509387110 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
55 .
jﬁ:E—I—l =
Options :
.1'4+.1"3 e s
— 4 ——Tan x4+ rc
4 3
1. %
a5 11 o
T—?—Fzﬂg_l + J-E-E'
2.9
¥ 8
?-E—?-PTH.H_IX-FC
3. %
_1'4+.x'2 11 {'E—I—l')—t-
gy ek gk
4, %

Question Number : 71 Question Id : 4509387111 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



(522

=0
Options :

e* +c
1. %

E?Ex

—ri

3

2.

Fe7 g
3. %

3e* +¢
4, %

Question Number : 72 Question Id : 4509387112 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

o o |
f dx =
x4+ 1

Options :

Tan *x —Tan *x3 4 ¢

Tan lx — ETan_l x? + €



Tan 'x +Tan 1x3 + ¢

1
Tan 'x +-—Tan"tx3 + ¢
3
4, <

Question Number : 73 Question Id : 4509387113 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

J eX(x+ 1)2dx =

Options :

xet + ¢
1. #®

e*x? +¢
2.

e*xi+ 1D +e

e*(x+1)+c¢c

Question Number : 74 Question Id : 4509387114 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



H."f:i g+
[ — 75 e
o (xsinx+ cosx)?

Options :
2—T1
2+

1. #

4 —m
44 m

2. %

6—m
6+

3. ®
8 —m
8+n

4. %

Question Number : 75 Question Id : 4509387115 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

‘- 1 v
————dx =
Jo (1—x)a

Options:



15
14
3% O
16
T
4.¢ 7

Question Number : 76 Question Id : 4509387116 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

1 = I — ¥,
j (\,-'l 4x+ x2 —f1l=x +x2)dx =
d

Options :

2
1. %

4
2. %

0
3. v

3



Question Number : 77 Question Id : 4509387117 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

[ (|Jx —3]+ |1 —x])dx =

J1
Options:
1. % %

8
2. ®

12
3.¢

24
4. %

Question Number : 78 Question Id : 4509387118 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The differential equation formed by elimimating arbitrary constants 4, B from the equation
y=Acos3x+Bsin3xis
oDe) 4, B O y = Acos3x 4 Bsin3r 0d SOR0NN0 00 IO)T @380

SH¥8e0

Options:
d?y 2
F¥=
dx? = °



d2y

R + 9y =0
2.

d?y

o 9y =0
3. % i

d?y

dxz 0
4. %

Question Number : 79 Question Id : 4509387119 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

. d :
Ifcosx - ysinx = 6x, ({} " E) and v (E) = (0 then v (E) =
dx - 2 . “ \&

oS X % — ysinx = 6x, (0 <x< E) s0AaW v G) = 0 0N y (E) =

2 6

Options :
2
43
1. %
—72
2
2. %
2
243



Question Number : 80 Question Id : 4509387120 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

,ﬂr:'p' :_ll.-:II _|_ X -I‘.L{Yn E '||_1-

= Loy gl =
ax X X

Options:

i §

cxX

CX

CX

Physics

Section Id : 450938151
Section Number : 2

Mandatory or Optional : Mandatory



Number of Questions : 40

Section Marks : 40
Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time: 0
Is Section Default?: null

Question Number : 81 Question Id : 4509387121 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The length of the side of a cube is 1.2 X 107% m. Its volume up to correct significant figures is
28 00 QR0 (8] 2020 &Pcha) 1.2 X 1072 m, TR D00 MBS S8
Q0D IO8

Options:

1.732 x 107% m?

1. ®

1.73 x 107 %°m?
2. %

1.70 X 1075 m?
3. %

1.7 X 107 m?
4.

Question Number : 82 Question Id : 4509387122 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The velocity of a particle is given by the equation v(x) = 3x® — 4x. where ‘¢’ is the distance

covered by the particle. The expression for its acceleration is

SPTR AP, & 80 GRS & 0690

Options :

(6x —4)
1. %

6(3x2% — 4x)
2. %

(3x%2 —4x) (6x — 4)
3. %

(6x — 4)?
4, %

Question Number : 83 Question Id : 4509387123 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The acceleration of a particle which moves along the positive x-axis varies with its position as
shown in the figure. If the velocity of the particle is 0.8 ms™* at x = 0, then its velocity at x =
14mis(inms™)

3 +850 B0 (HATH0T 80 T0E) 5860, TR FI0S D608 HrD
OO SrEEN0E. x =0 ¢ $690 TNEY M0 0.8 ms™! YOS x = L4m SO TR
Jio (ms™" 6’_3635)

afinms?)
A

04]

I
I
i
0‘2 --------- T ---------
I
I
I
I
I
I
L

‘ I'I ( )

1.6
1. %

1.2
2.

1.4

0.8

Question Number : 84 Question Id : 4509387124 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The maximum height attained by projectile is increased by 10% by keeping the angle of projection

constant. What is the percentage increase in the time of flight?
08 (952 590 56 2,8 [T N8 D (16R AV 10% DO, A [HOSPED

5005 DOHEO TS0 oeh?
Options :

5 %

1.

40 %

Question Number : 85 Question Id : 4509387125 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A light body of momentum ‘P, " and a heavy body of momentum ‘PBy’. both have the same kinetic

energy. then
(e300 B, 150) 2,8 BOE S5 ed) OO By’ (adsM0 tfed 2.8 276 50, Bochr
2.5 fi@edS $OR ot

Options :

B, > Py
1. %



Py = P,
2.

PL —= PH

Always Py = 2 P,

. DON I Py = 2P,

Question Number : 86 Question Id : 4509387126 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A block of metal 4 kg 1s in rest on a frictionless surface. It was targeted by a jet releasing water of

2kgstataspeed of 10 ms™ . The acceleration of the block is

4kg (9655073 1100 2.8 S T O 0ITBR G8BO0 3 AMOVBS ) 0. A
0% 0 KR 2.8 26 10ms™ HAS DES B 2kg A8 N0 DKW, &3
O] & 3680

Options :

10 ms ™2
1. ®

15 ms ™2

20 ms 2

5 ms™ 2

4. &



Question Number : 87 Question Id : 4509387127 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
. ; ; . lgn
A person climbs up a conveyor belt with a constant acceleration. The speed of the belt 15 J% and

coefficient of friction 1s e The time taken by the person to reach from A to B with maximum
v

possible acceleration is

ESES BSDSD) E53090 B 2 28 538 VY B

5680 2§ M. $T3006 29 S6 £

H0a e Heaso 35—5 A Sod B & 58

v

RPCEN0 Y8503 ¢ 55608 50 e0)2)ch B A 30
DOEE T 500

Options :

4. &



6h
Fe

Question Number : 88 Question Id : 4509387128 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A machine with efficiency 2/3 used 12 J of energy in lifting 2 kg block through certain height and

it 1s allowed to fall through the same. The velocity while it reach the ground is

23 G8& o 28 oho@o 2 ke D Sosa) 203008 12 T 48D
DATFAON0O. OO & B B0 @08 Erdo FONEN, OFOD
Dot Jo?

Options:

vZms 1

2ms 1

2+/2 ms™1

0.2ms™ 1

Question Number : 89 Question Id : 4509387129 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A solid cylinder rolls down on an inclined plane of height ‘b’ and inclination ‘6°, The speed of the

cylinder at the bottom 15
0 ), 0" eSO O 2.8 TENBO0 VN0 28 DR W0 Gtk (8058

OB, TS0 ODHFI0 IO TR G

Options:
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Three particles of each mass ‘m’ are kept at the three vertices of an equilateral triangle of side T,

The moment of mertia of system of the particles about any side of the triangle 15
252883 ‘m |89:350°9 (1) oNTCH SETOD 1 2DHBa 0 2.8 MederT (82hE0
ST 9T SO G0, (BEHB0 TS &8 B0 GYars SeTe) S5ain G,

208655 27050
Options :
ml®
1. # %
ml?
2. ®
3
P ml?
3.
2
— ml?
= m
4, %
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In a spring block system as shown in figure. if the spring constant K = 9m*Nm ™2, then the time

period of oscillation is

90T 838 5050 Dend

K
ke ke
K
K
Options :
1s
1.+
3.14s
%
1.414 s
4% 0.5s

Question Number : 92 Question Id : 4509387132 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Abody 1s executing simple harmonic motion. At a displacement ‘%’ its potential energy 1s E; and at
a displacement 'y’ its potential energy is E,. The potential energy E at a displacement (x + ) is
2,8 5005 6% o8 0SS DA, FIL0F % ¢ o Ve A8 E,
OO FIBoA § P T VB 4§ E, mandeS 8 Sa) Pgoden
(x+y) 90 0 0HOCH V3 45 E dena.

Options:



"'l."fE - \,I'IfE_I_ o ""n"ll Ez

1. %
VE= B +/5
2. %
E — El | E2
3. %
E . E]_ ‘l‘ Ez
4, %
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Time: 0
A particle 1s projected from the surface of the earth with a velocity equal to twice the escape

velocity. When particle is very far from the earth. its speed would be,

2,8 §600 200 2 0D 28 Derahe FTRE B0 Fhod 980 BahadSe.
& %620 2570 000 T RG0S &) ¥eao o,

Options :

Ve
1. %

2V,

V3 v,



V2 Vg
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Time:0
A 4 ke stone attached at the end of a steel wire is being whirled at a constant speed 12ms ™ in a
horizontal circle. The wire is 4 m long with a diameter 2.0 mm and young’s modules of the steel
is 2 X 10* Nm ™. The strain in the wire is.
4m SPGB0 20mm TS0 HOD ?0@0 &l DB o 4kg © T°ON

SE0BS0. B 55599 882 DSrosds SyFsE eiyBS 12ms™ JEGS SBS

™5

B2 811 S0 DEIT D9 Dexsd (%}m aoh iheago 2 x 101 Nm'z)
Options :

T 1
1.4

o o | |
46 %1074

6.9 x 1074
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A spherical ball of radius 1 X 10~ m and of density 10* kgm™ falls freely under gravity through
a distance 'h' before entering a tank of water. After entering water if the velocity of the ball does
not change, then 'h’ is

(The coefficient of viscosity of water 9.8 X 1078 Nsm™2)

1% 107* m a75rgeln. 104 kem™® Rro(cie fey OH0e Hher ;5 we0 mid
DI D00 b S0 (8008 6 Ui, 2.8 D EDSE (RFN06. A
SO 208 M0 P8BS o h' e,

(48 Ry e heato Dena) 9.8 x 1076 Nsm™2)
Options :
204 cm

1. %

204 mm
2. ®

204 m
3. v

10.Z2 m
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A metal block is made from a mixture of 2.4 kg of aluminium. 1.6 kg of brass and 0.8 kg of copper.
The metal block 1s mitially at 20° c. If the heat supplied to the metal block is 44.4 calories. find
the fmal temperature of the block if specific heats of alumintum. brass and copper are

0.216,0.0917,0.0931 cal. kg™1C ! respectively

2,8 637 B3] 2.4 kg OV5MAAN0, 1.6 kg DA SHBAK 0.8 kg T |Fedeine
SOirth TGO, 57y B &0 &afllie 200, & HJH 444 b
Grad 50 A0, B2 G a1 e, @ENZMANN0. A, T°A & DFFaleln

203N DA 0.216,0.0917,0.0931 cal. kg1°C ™
Options :

100 °C
1. %

60 °C

40 °C

80 °C
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2
An ideal gas is found to obey PV2 = constant during an adiabatic process. If such a gas initially

TN P ; .
at a temperature T 15 adiabatically compressed to i of its volume. then 1ts final temperature 1s

28 ®d6)  aoby NS s b e
HaDEBETR 9 DNBONNY . T &F SO &6 58 &ed) G PO NG
DIEAD o TR S H0STR0, $O D H0TR0S Tenls S0k

SH0DRIR. WON, T el g (fed

Options :
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Time: 0

The condition dw = dg holds good in the following process

1808 BenHBS 1DBANS dw = dg D220

Options:



Adiabatic process

L D0 DB
Isothermal process
L Do) tr&l|fie |05
Isochoric process
ok s 87Ed [(5O%
3. %
Isobaric process
D DS (HBAH
4. %
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Time: 0
The efficiency of a Carnot engine found to increase from 25% to 40% on increasing the temperature

(Ty) of source alone through 100 K. The temperature (T;) of the sink 1s given by
B850 G, LS ST 100 K Do) 50) el oo Ty,
(58 € 25% N0 40% IG5 ONE, N VOS (Ty) ThE) cedl|ied

Options :

300K
1.+

250K



325K

125 K

Question Number : 100 Question Id : 4509387140 Display Question Number : Yes Is Question
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Time:0

Match the following (f is number of degrees of freedom)

Gases P value
Cy
A Monoatomic I 44 f
B=f
B Diatomic (rigid) I 5/3
C Diatomic (non-rigid) I 7/5
D Polyatomic IV 9/7

180OTE3R) 25000 (f-R 577 0ehe) o)

TN %;’)m&ﬁ
Vv
A | DEIESED I 47
3+f
B | &5eired (IGhco) II 5/3
C | &5 (1Ghicto SAG) Il 7/5
D | 2:5000TED IV 9/7
Options:
A-III B-IV C-I D-II
1. %



A-II B-1 C-III D-IV

A-IV B-III C-I D-II

A-IT B-III C-IV D-I
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Time: 0

When a wave enters mnfo a rarer medium from a denser medium. the property of the wave which

remains constant is
2,8 S0 Fo|dBE 0T8N HOD oY ArSENSE (TN,
300 CR0E) STGH0 YBOT GO (380

Options:
Wavelength
- SO0N TP 5o
Frequency
il ok
- Te)260) A0 § 00
Velocity
o500
3. %



Amplitude
0D DBeEd
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The focal length of the objective lens of a telescope 1 30 cm and that of its eye lens 1s 3 cm. It is
focussed on a scale at a distance 2 m from 1t. The distance of objective lens from eve lens to see
the clear image 1s
2,8 SPGB H0Y) 680 T°25506550 30 em aDBOL J(ed $E250 TH5050 3 em.
& TS0 2 m GErds S¢S o 28 e 30|08y DoHABSE. B0
DAY (DD IHRE, TS %W HOD SN EOH%NDHH
Ol SEVNT AV

Options :

38.3 cm
1.

48.3 cm

L
o
L]
E
=

22.5cm
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Time:0

In case of diffraction, if ‘a’ 15 a slit width and A 1s the wavelength of the incident light. then the

required condition for diffraction to take place 1s
28 DGO DBFHNS @@ DOE Schen)dh. 1 DO% D Hehehed) o
SE0MTE5a0 D A0, 23850 TOLDHEH TR DI

Options :

a—IDDO
=

2| o
|4
[

2.

7y il |
3. ®

a > A
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Time: 0

The electric field intensity (E) at a distance of 3 m from a uniform long straight wire of linear
charge density 0.2 pCm™ is

D508 BN e 0L 02 pCm™ o) SPGB B & H0G 3 m (XG0
116 D)0he O DS (b o35 E)

Options:



1.2 % 103 Vm 1
1.

0.6 X 10° Vm™?
2. %

1.8 x 10° Vm™1
3. ®

2.4 %10% Vm™?
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Time: 0

When a parallel plate capacitor is charged up to 95 V. its capacitance is C. If a dielectric slab of
thickness 2 mm is inserted between plates and distance between the plates 1s increased by 1.6 mm
such that the same potential difference 1s maintained. The dielectric constant of the material (slab)
18

2,8 2P0 %O TarGD & 95V 05 83960 T %) SFRBN) C.
TR D080 ks 2mm H0B0 e wf 0OE TR BB, HOde e
FEN0HO TE0 FO) DN TS0 SOBOHK T dodey Dk Srdo

1.6 mm 20T, oS HENT0 6% oo

Options :

2.4

4.5



3.¢ 20

9.0
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The capacitance of an isolated sphere of radius ry is increased by 5 times, when it is enclosed by

an earthed concentric sphere of radius r,. The ratio of their radii 1s
g0 fo 28 dodng Ao By S8 r, ardo $OR, Hrns
DOTTBDERS JET0I FF0S H05950 DX 5 TEY DO ). ©ows

T8 PEPTO D)8

]

Options :
4
1.+ .
3]
4
2. %
3
3. % 1
3
5



Question Number : 107 Question Id : 4509387147 Display Question Number : Yes Is Question
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Time: 0
The charge ¢ (in coulomb) passing through a 10 Q resistor as a function of time t (in second) 15
given by g = 3t — 2t + 6. The potential difference across the ends of the resistor af time t = 5's
1
100 JBGE0 wr5or (HFoHDN) s 6350 ¢ Hered ). 500 ¢
(RE0HS) & q=3t2 -2t +6 T NSEID. TO0 t=5s O ABS%0 Bodh

D36 s FRVAHO B30
Options :

120V

1. %

240V

140V

280V
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Time:0



A cell of emf 1.2 V and internal resistance 2 () is connected in parallel to another cell of emf 1.5V
and mternal resistance 1 (). If the like poles of the cells are connected together, the emf of the

combination of the two cells is

emf 1.2V 5805 ©08815¢90 2.0 ) 2.8 S96°0) emf 1.5V B0k ©9068)5¢50
10110 DTS NP8 AarosSorr SO, Arére) dered [(are e SO, Boch
NET® DOTTIO G0}, emf

Options :

1 % 08V

A9V

2NV

1.4V
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Time:0

A proton and an alpha particle moving with energies in the ratio 1: 4 enter a uniform magnetic field

of 3T at right angles to the direction of magnetic field. The ratio of the magnetic forces acting on

the proton and the alpha particle is

$0 QS 1:4 & EDencdd) 2.8 19ErR HO0k 2.8 ser) &m0 w8 68
SODR 080 (60 3T SNE BaHAr080 JiB HF% oo (HIFTHD.

%7 adBOTD &6 ST ) DA B v SOH06 D) 1)

Options:



122

1.¢
X N
3% &3
g% 13
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A charged particle moving along a straight line path enters a uniform magnetic field of 4 mT at

right angles to the direction of the magnetic field. If the specific charge of the charged particle is

8 X 107Ckg™". the angular velocity of the particle in the magnetic field is

5654 B Sr8os D088 e 490 4mT saHF 08 o S'IL
SODAF06 3 (¢ BF5) OO0 |0, B3 §690 DFTRF0 8 x 107Ckg™
0N B BaH08 310 §80 TG, THak o

Options :

64 x 10*rads™1

32 x 10*rad s 1
2.

16 x 10* rad s 1



48 x 10* rad s 1

Question Number : 111 Question Id : 4509387151 Display Question Number : Yes Is Question
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Time: 0
At a place the horizontal component of earth’s magnetic field is 3 x 107 T and the magnetic

declination is 30°. A compass needle of magnetic moment 18 Am? pointing towards geographic

north at this place experiences a torque of

28 (DBH0 5 2 sohI0e T § 83 Narosd @0d0 3x107°T HOAW
SOO060 B0 30°. 18 Am? SOHL06 (27050 $ON. TV &BY HFd
AP, 28 S0arR (B & (HBH0S 50 T 635y

Options:

36 x 107> Nm

1. #®

18 x 10™° Nm
2. ®

54 x 107> Nm
3. %

27 ¥ 107> Nm
4.
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The current passing through a coil of 120 turns and inductance 40 mH s 30 mA. The magnetic

flux linked with the coil 18

(5850 40mH HOON 120 LD o 28 & 8 To° 30mA IS
NS0T B. o IS 20H0S BN 08 ©DaTsFo

Options :

20 x 107® Wb
1. %

5% 107 Wh

12 x 107 Wb

10 x 107° Wb
4.
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Time:0

A resistor of resistance R. inductor of mductive reactance 2R and a capacitor of capacitive reactance

X. are connected in series to an a.c. source, If the series LCR circuit is in resonance, then the power

factor of the circuit and the value X, are respectively

RGO R o) 2.8 ABGE0, |86 5 (DBO0 2R SHOAM § o568 § (SO0 X ey 2.8

Sratd FES 28 ac 25508 fodadaron. LER (36 J0aho admrdod

GO HO0D NS TUE0 HOOK) Xe MENILN ST
Options :

1. %



0.5 and 4R

0.5 snOa3 4R

1 and 2R

1 080 2R

0.5 and 2R

_— 0.5 o83 2R

1 and 4R

L w 10805 4R
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Time: 0
The rms value of the electric field of an electromagnetic wave emitted by a source is 660 NC™. The

average energy density of the electromagnetic wave 1s

28 20380 GTH0NN DEIOADATL06 SO0 DS 3 ms HEN 660 NC.
ACE0RRM,06 oo GBS} it 48 Aol

Options :
L75 2% 10~

1. %

2.75 % 10 % Jm
2. %



485 x 107¢]m™3
3. %

3.85 x 107¢Tm™3
4, '
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Time:0
The maximum wavelength of light which causes photoelectric emission from a photosensitive
s 5 . : o Ao .
metal surface 1s Ag. Two light beams of wavelengths T and r incident on the metal surface. The

ratio of the maximum velocities of the emitted photoelectrons 1s

28 S Irdamird Sy doo Hod FE ATG0 26 08 (6
SIONBEES0 k. SEOATTIEN 33—" 0 %“ $ORS Boch o8 Horen o)
$00 3 DSBS, TGRS PE NO[FHO 10 Fre A )ed

Options:
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Time: 0

The electrostatic potential energy of the electron in an orbit of hydrogen is —6.8 eV. The speed of

the electron m this orbit 1s (C is speed of light in vacuum)
B HESPeN) 2.8 LS 2.8 JO|TS Bk) D s Ve 48 68V, &
865 DOIT 36 (€ 319508 5708 S

Options :
C
137
1. %
C
274
2.
20
137
3. %
3€
137
4. ®
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Time:0

The surface areas of two nucleti are i the ratio 9 ¢ 25. The mass numbers of the nucletr are in the

1atio

B0 So|5°0 &aBee ZTerio NS 9 : 25. S0[EFE (3078 H0R5e A



Options :

27 2125
1. &

9:25
2. ®
3 % 315
4. ® -5l
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Time:0

Pure silicon at 300 K has equal electron and hole concentration of 1.5 X 10* m™. If the hole

concentration increases to 3 X 1022 m™2 then electron concentration in the silicon is

300 K 9% 2501300 VOISR el BT a8y 8010 mehed 1.5 x 106 m™
L o o = = 5 b

$OR 08, GO M & 3% 102 m™ % OB, VOTR S O O[T ©

TCaed

Options :

0.75 X 10 m—3
1. %

750 m 2

R



75 %107 m™3
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Time: 0
Inn — p — n transistor circuit. the collector current 1s 10 mA. If 95% of the electrons emitted reach

the collector. then the base current 1s nearly

b

28 n—p-n E7)R0 JSO000S D86 DC05S 10mA. G0 O[T OF 95%
V5030 TS, 8 AN TP

Options :

5.3 mA

53 mA

35 mA

0.53 mA
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Time:0



A transmitter of power 10 kW emuts radio waves of wavelength 500 m. The number of photons
emitted per second by the transmitter 15 of the order of

10 kW 20830 ) 2.8 (HRr0eS 500 m SS0ATYs0 e DARET ddorerd de)e

D008, (D06 28 VEDE GO0 FErD N0DE A 1500

Options :

10%7
1. ®

1031
2.¢

10%°
3. %
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Time:0
The difference 1n radit between fourth and third Bohr orbits of He™ (inm) 1s

He" 330E), 7065 s08050 srcssd 50 85 £0 FsrTe BE (m ©S)
Options :

2.64 x 10719

1.85 x 10712

185 x 1070

1.85 x 107°
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Time: 0

If Ao and / are respectively the threshold wavelength and wavelength of incident light, the velocity

of photo electrons ejected from the metal surface is

Jo o8 1 en SHT edod é8ofEd0 DB N S0 Sof

BTSN, S'oF 60600 0 TGRS 508 Jo TS © Sio

u
ol

Options:



2h
EU@ —2)

/th (}'L.;, = }L)
| m Mg
2.
|
2hc
— (Ao —4)
Jy m
3. %
2h (LD
\,J[ m \Ay A
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Time:0
The correct order of atomic radii of N. F. Al. S11s

N. F. AL Si © 3306 3°500° 07 3830 (8o00
Options:

F>N>8S1=Al



F>N=Al>Si

2. %

Al=S1>F>N
3. %

Al=8i>N=>=F
4.
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Time:0
The correct order of covalent bond character of BCls. CCly, BeCls, LiCl 18

BCl3, CCly, BeCly, LiCl © §38B08) 2006 @8 £ D8 (Eaded0

Options :

LiCl = BeCl < BCls =< CCl4

1.+

CCls <BeCly < BCls < LiCl
2. %

CCly = BCl3 < BeCly < LiCl
3. %

LiCl = BClz< BeClx = CCly
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Time:0

In which of the following pairs, both molecules possess dipole moment?

1808 & 20&S TODH ENIHED B 5D (PSR, 58 CSn0oeron?

Options :

CO2, BCl3
1. %

B(Cl;. NF3
2. ®

CO7. SO
3. %

SO1. NFEF3
4, &
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Time:0



At T(K), the P, V and Uy.;,c0f 1 mole of an 1deal gas were measured. The followmg graph 13
obtained. What is its slope (m)?  (x-axis=PV: y-axis uﬁms, M= Molar mass)
T(K) 50, 2.8 IO e3¢5 a7aS0a) 50 B, V DA Uys 060 ST (808 (76

ODNON0B. T TN (m) JO? (x-©F 0=PV: y -85 0=uZ, ; M= Zrerd |(950°3)
y

Y
>

Options:
A
1.+ "
M
3
2. %
My 172
5)
3. %
3,1/2
()
4. ®
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Three layers of liquid are flowing over fixed solid surface as shown below. The cotrect order of
velocity of liquid in these layers 1s

28 D0 08 GAOBO0 2 [DIar0 () P PO (806 93 2F 0N, &
B0 555 380 T80 HBTes Ly

Layer 3 (Velocity V3)

8 3 (B0 V)
Layer 2 (Velocity V)
6 2 (a0 )
7T Layer 1 (Velocity V1)
[ 893 1 (a0 Vi)

I T T I § i :
k%l’lxed solid surface

Options :

Vi>Va>Vs
1. %

Vi=V=V3

V3=Va=Vy

V3=V 1=V3
4. %
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Time:0



A flask contains 98 mg of HaS04. If 3.01 X 10% molecules of HySO4 are removed from the flask.

the number of moles of HySO4 remained in flask is (N = 6.02 x10%)
28 T} & 98 mg © HiS0s )0, Ty D0 301 X 10% HS0s ©ENHOND
SON0N, TRy & WAOS HS04 IrH © Homg (N=6.02 x108)

Options :

1 x107¢
1. ®

S0
2. ¢

1.66 x 1073
3. %

9.95 % 1073
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Time:0
Identify the correct equation relating AH. AU and AT for 1 mole of an ideal gas from the following
(R = gas constant)
1 30O &8¢)0) aroined$) AH, AU SO0 AT © 5 902057 Bews) HOT
Nedserdy Hhbotiod
(R= 705 QT°0%0)

Options :

1. %



(AH)* = AU + RAT

AH = (AU) ?+ RAT

2. %

AU =AH — RAT
3.+

AU = AH + RAT
4, ®

Question Number : 130 Question Id : 4509387170 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The number of extensive properties in the following list 1s

enthalpy. density. volume. internal energy. temperature.
& L, - L}
1808 T3S &) S Goried Sos

DO, 0|55, NODBATEI0, 3058E ¥S, &F|ied

Options :
4
1. %
5
2. %
3



Question Number : 131 Question Id : 4509387171 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

15 moles of Hy and 5.2 moles of Iy are mixed and allowed to attain equilibrium at 773 K. At

equilibrium. the number of moles of HI is found to be 10. The equilibrum constant for the

dissociation of HI 1

773 K 56 15 mol Hy 0805 5.2 mol I o $6)2) a0& 0638 531660 BT, deder

o]
8 oyl 9.0 9

330 10 mol HI &) 20008, HI DaN&ITRE QoD@ D& QTP050 Qe

Options :

251072
1.+

50

2x1071

5.0

Question Number : 132 Question Id : 4509387172 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



1

The solubility of barium phosphate of molar mass ‘M g mol ™ in water is x g per 100 mL at 298

a
K. Its solubility product is 1.08 X (ﬁ) X (10)b. The values of a and b respectively are

2rerd |55509 M g mol™ ) Z00D0 2R [Seiahes AE3S 298 K 56 100

a
L § ' g0 T IH0NS 108 % (S] x (10)° ons a,b denisen S

Options :

T
1. %

5.7
2. %

B.H
3. %

7.7
4, %

Question Number : 133 Question Id : 4509387173 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Hydrated sodium aluminium silicate 1s called
23| OFGB0HO ®ETFFNIAN D DO TE) D DeDOETED?

Options :

Calgon

SIS
1. % '



Zeolite

2B0BE
2. ¥
Dead bumnt plaster
3B G T'9b
3. %
Kaolinite
SANOTE
4, %

Question Number : 134 Question Id : 4509387174 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which one of the following statements 1s NOT correct about the compounds of alkaline earth

metals?

SERYDE S I TOH H020H0D 1§08 FES DB ST s FEH?
Options:

Basic nature increases from Mg(OH):2 to Ba(OH)2

5O 2700 Mg(OH)2 s 0 Ba(OH)2 50 220D

Thermal stability decreases from BeCO3 to BaCO3

a0 es $0 BeCO3 a0 BaCO3 50 €4(Hed
2. ¢



Solubility of sulphates in water decreases from BeSO4 to BaSOx.

eSS DTIE (e ed BeSOs s 0O BaSO4 50 eb(Hed

Nitrates of these on heating give oxides

D3 T O A T €833 1CH BT

Question Number : 135 Question Id : 4509387175 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Consider the following standard electrode potentials (E® m volts) in aqueous solution

Element |MY/M |M/M

Al —1.66 | +0.55

Tl +1.26 —0.34

Based on this data. which of the following statements is correct?
203 (758067 1808 HeEd OISR 350080 (E° in volts) HBESotieim
Srodo MM | MM

Al —1.66 | +0.55

Tl +126 | —-034

2D ) BT 0T SEFEOMT (800 FIDIOS DO DBIE?

Options :

TI* is more stable than AI*T

AP 50T T @58 DERIE



TI" is more stable than AI**

AP 50T TI' @08 DB

2. ®

Al" is more stable than AP

AP 80T Al" @58 DEDIE
3. ®

TI™ is more stable than Al”

Al 80T TI" @5HE ?gé@a&
4, &

Question Number : 136 Question Id : 4509387176 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the allotropic forms of carbon is aromatic in nature?

5D SFFoST OIS B8 DEETESS O 52R0 Sotn0E?

Options :
Diamond
3005

1. ®
Graphite
QS

2. %

3.4



Buckminster fullerene

255 NAND HOB®
coke
4w &5

Question Number : 137 Question Id : 4509387177 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The enamel present on teeth becomes much harder due to the conversion of [3 Ca3(PO4)y X] mnto

[3 Ca3(POg)y.Y]. What are X and Y?
D¢y (teeth) 3 BOT SO ayred B0 KEIGETAE TBEIO [3 CasPOs) X].

—

[3 Caa(POg)y Y] T SO0, X, Y €0 )7
Options:

X =Ca(OH), Y =CaF2

1.+

X = Ca(OH),. Y =CaCl
2. %

X = Ca(OH);. Y =NaCl
3. %

X =Ca0, Y=CaCly



Question Number : 138 Question Id : 4509387178 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Number of deactivating groups of the following is
-CL. -SOsH. -OH. -NHC,Hs. -COOCHs. -CH;3
80O ¢3¢S° DB Hdrte) Hops

-Cl. -SO3H. -OH. -NHCHs. -COOCHs. -CH3

Options :

4
1. %

3
2. v

2
3. %

1
4, %

Question Number : 139 Question Id : 4509387179 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



What are X and Y respectively in the following reaction sequence?

1808 BT [BH0S X HBAM Y €0 ST D2

(TET

-

CaHe s - X — - Y
(CgH5CO);04 Na / dry ether

(0 &&B)

Options :

1. #
Br rff“Tf‘x
g lﬁf
2. ®
Za fJx
B
3. %
B a |
e 9 S
4,

Question Number : 140 Question Id : 4509387180 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Identify the incorrect set from the following

1808 ¢3S H8 520 DB HBotiod
Options :

S102. covalent solid. insulator, high melting pomt

$102. DeDAIFPBRAD NNDTTG0, 2080, EE (522563 30

MgO. covalent solid. insulator. high melting point

MgO. eDAITBROD NS0, 2203550, eIEE 325650 B30
2. ¢

H>Oice). molecular solid. mnsulator. low melting point

H20(0is), SENNSITTE0, 22065850, ©€))(¢925:5¢8 3w

Ag(s). metallic solid. conductor. high melting pomnt

Ag(3). & sTNINTT G0, a3°E50, OIS Fededn
4, %

Question Number : 141 Question Id : 4509387181 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



The following graph is obtained for vapour pressure (in atm) (on y-axis) and T (in K) (on x-axis)
for aqueous urea solution and water. What 1 the boiling pont (in K) of urea solution?

(Atmospheric pressure = 1 atm)

SrBasT 20 [Tk 0N ABOR, 271 DS @m ©F) (&0 )
HO T K 0F) x-©50 ) 0% 508 [ 0Do0d. ordasr e

2P 5% TS0 (K ©F) 07 (TG D)Cedeid 1.0 atm)
},

Options:

T
1. %

T

T3
3.

T4

Question Number : 142 Question Id : 4509387182 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Given below are two statements
Statement I: Liquids A & B form a non-1deal solution with negative deviation. The mteractions
between A and B are weaker than A-A & B-B interactions

Statement IT: In reverse osmosis. the applied pressure must be higher than the osmotic pressure of
solution

The correct answer is

50C3 BOC aF 55N Bed SATTON

TIDSL (S0 A& B e, DEINIErd) $OR0 8860 |THerd)
DEIDTOD. A BN B © 6935055 98560 A-A & B-B © &385s 850
$0T) DOLTNOIT GOEFaN

T 5a¢ TI: G5(65). (BT80S, (76 (T 3¢50 0T 8009
TR SenfEaHSBD

ANGTOIVNRN VAR

Options:

Both Statement-I and Statement-II are correct

a7 £ 8T 0O 3° 5 E-IT BOCE” DB QDa)

Both Statement-I and Statement-II are not correct

3§20 §-T oD OO a3 2 811 BOCAT DB 56

Statement-I 1s correct but Statement-II 1s not correct

2T QBBE 570 a5 S-TT DB ADNE 5°¢H

Statement-I i1s not correct but Statement-II 15 correct

51 BADNE 5°CH 57 P 5D S-IT DD
4.



Question Number : 143 Question Id : 4509387183 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The standard reduction potentials of 2H'/Hy. Cu”/Cu. Zn*/Zn and NO3. HY/NO are 0.0, 034,
—0.76 and 0.97 V respectively. Identify the correct statements from the following

I H" does not oxidize Cu to Cu?*
1l Zn reduces Cu®* to Cu

I NOj oxidizes Cu to Cu**
2H'/Hy, Cu/Cu, Zn*/Zn HB00) NO3, H/NO © |2)63°ed & 0030 457360 ST 0.0,
0.34, - 0.76 OO0 0.97 V. 1808 a*SS 0TS 50 oo

L Cud G, H e3$)8060 modk

L Cu® QCulP, Zn, S 0DEG0 a0t

L Cud Cu 17, NO7 85)50563000 TR0t

Options:
L II. only
I IL 5076530
1. %
I.II. III
2.
I. IIT only
I, III 30| €530
3. %

4. %



I1. I1T only
I1. TII o30° €5 o)

Question Number : 144 Question Id : 4509387184 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

A — Pis a zero order reaction. At 298 K the rate constant of the reaction is 1 » 107 mol L ¢,

Initial concentration of *A’ is 0.1 mol L™, What is the concentration of ‘A’ after 10 sec?
A— D28 ) (508 5855, 298 K 2300 €8 1905 DD WTP08a 1 x 107 mal LT s, A”
SOMChed 0.1 mol L, 10 DEDHS) edcareh ‘A’ Trched 0ed 9
Options :
0.09 mol L1

1.4

0.099 mol L}

2. %
~ 0.087mol L

3. ®
0.011 mol L

4, &

Question Number : 145 Question Id : 4509387185 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match List — I, with List - I

List-I List-11
I | Colloidal antimony Kalaazar
II | Silver sol Intermuscular mnjection
I | Milk of magnesia Eye lotion
IV | Gold sol Stomach disorder

Correct answer 1s

99 -1 O - T & BSIGED

Y -1 e - 1I
I | e08300 Ferond e
I |50 2O 50607088 028 0
I | 6 esh Dl Dok 4063 SAQ
IV | O & &30 30 §0eh
QO Bar2D
Options:
I-B. II-A. III-C. IV-D
1%
I-A, II-C, II-D. IV-B
2.¢
[-A. II-B. II-C. IV-D
3, %
I-A. II-D. II-B. IV-C
4, %

Question Number : 146 Question Id : 4509387186 Display Question Number : Yes Is Question




Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Identify the method of preparation of a colloidal sol from the following
BoB 78365 and S 008 HABR HBoTNAM
Options :

Ultrafiltration

s

§é§)‘.’) 3030

1. ®
Peptisation
29 §8£0
2.
Dialysis
CHAITEIVD
3. %
Electro-dialysis
DN GOV
4, %

Question Number : 147 Question Id : 4509387187 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The flux used in the preparation of wrought ion from cast iron in reverberatory furnace is
85538638 DM Heh 0 06 Teh DD SAPES T3 |5:55°0
Options:

1. %



S102

CaCOs
2.

C
3. %

NaCN
4. %

Question Number : 148 Question Id : 4509387188 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

PB0;+H,0-X

Red P, +alkali—= Y

X.'Y are oxoacids of phosphorous. The number of P — OH bonds in X. Y respectively s

P,0; +H,0 =X

DOP+ 500 =Y

XY 00 200 @38°) ea7en. X, Y ¢S P — OH 20570 0D SET

Options :
1.4
1. %
4.1
2. ®
Z;4



|

Question Number : 149 Question Id : 4509387189 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Which of the following occurs with KMnO4 in neutral medium?

5838 OSSO0 & KMnOs & (806 s7¢3¢S” O 230HeoH?
Options :

Oxidation of oxalate 1on

e B eoairs es§y8de0

1. %
Precipitation of sulphur from hydrogen sulphide
WEBRS OB 0B S8 @53 Heo
2. ®
Oxidation of Fe?" to Fe**
Fe2™ oG Fe¥* %0 e38 8800
3. %
Oxidation of iodide to 1odate
BB E, e m essEd00
4.

Question Number : 150 Question Id : 4509387190 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Cobalt (IIT) chloride forms a green coloured complex “X' with NH3. Number of moles of AgCl

formed when excess of AgNOj3 solution 1s added to 100 mL of 1M solution of ‘X 1s
NH & §2rQ) (1) S D& es80:3t3,) B0 1) X’ €965 S0FaTR) 2815068, X’ G

100 mL © 1M [T36TR8 AgNOs | TIER0), ©HS0M O 28 AgCl 7O ©

0§

Options :

I
1. %

0.2
2. ®

0.1
3.¢

1
4, %

Question Number : 151 Question Id : 4509387191 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The correctly matched set of the following 1s

1BOB a3¢365” BT 2365 TDONDED DA
Options:

Polystyrene — copolymer - thermoplastic

O NOS - Db — B8 NG



Bakelite — addition polymer - thermosetting

BEBE — D0EDOD OO — Erad Sy

2. #

Nylon 6 — Homopolymer - fibre

TS 6 — HeR3aD FOND -
3.¢

Buna-N — Homopolymer - elastomer

2D SN — D273 0% 2PO0B — Derdfednd
4. %

Question Number : 152 Question Id : 4509387192 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Identify the correctly matched set from the following

80& a3°¢3 D0 HOMT 3¢ T2 D3 HBotoH

Options :

Vitamin A — Water soluble — Xerophthalmia

DEDES A — DE3S 81O — BB O05°

1. %

Vitamin Bg — Water soluble — Scurvy

DEMS Bs— DE3S 610 - 5.6
2. ®

3.



Vitamin D — fat soluble - Rickets
DLWV D -5HsS 4616 — 886

Vitamin C — fat soluble - convulsions

DEIMS € — 595 §6TE — Seando Stio
4, %

Question Number : 153 Question Id : 4509387193 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Given below are two statements
I Cytosine and guanine are formed in equal quantities in DNA hydrolysis
. Adenine and uracil are formed in equal quantities in RNA hydrolysis

The correct answer is
1506 O ar$23en Rd ST
I DNAZONINES DTN HOGM LD DT HOSTE0ES A )eran
I RNA 20033808 G50 H00 ooRE AT H05rR0d
20T

4 o

DA QTR0
Options :

Statements I . IT both are correct

S SEEN L I B0 A8

Statements I . IT both are incorrect

S ED5eN I, I BOCD O 5%



Statement I 1s correct but statement II is incorrect

55 T ABANAE 55 ar g s I S8QHAE 5°¢D

=

Statement I 1s incorrect but statement IT is correct

55 T ABADAE 57N 55 55 I SO

Question Number : 154 Question Id : 4509387194 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Identify the correctly matched pair from the following

1B0E €3 0 SO 2365 TOLDES 208 (HBododk

Options :
Me OH
=
- — Antibiotic
¢l BF0eS20TBE3s
Me
1. #
COONa
=
I Food Preservative
-~ e3:5° 00T DOGE S0
2.9

3. %



Salt of propanoic acid — Antioxidant

(PSS e300 TBEY ©65620 — Or0e3ess 15565

Veronal — Analgesic

SO — e 25
4, #®

Question Number : 155 Question Id : 4509387195 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
What are Y and Z respectively in the following reaction sequence?
1808 5T°5 (3590 Y sHOGIN Z e SO 2

Cl
HNO,

= X - 7

Cone. H,SO ,
n?é:L 774 (major product)

Eelay SR T RIS AT

Options:

OH
(1) NaOH. 443 K. H :

2.



OH

(i) NaOH. 443 K. (ii) H :

O,N
OH
H,0. A
0N
3. %
OH
H,0. /\
NO,
4, %

Question Number : 156 Question Id : 4509387196 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Hydrolysis of an alkyl bromide X (CsHyBr) follows first order kinetics. Reaction of X with Mg in
dry ether followed by treatment of DO gave Y. What is Y?
28 B0 DB X (CsHiB) T0E) 2086 NG ($5708 (188 7))
FED0G. PG G50 S X b Mg & 0905 200 $ared D& ST ¥
3000, Y i?

Options:



1. #
)\/\D
2. %
E,A._\D[f
3. #
D
4.

Question Number : 157 Question Id : 4509387197 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

An alcohol X (C4H10) does not give turbidity with conc. HCI and ZnCly at room temperature, X

on reaction with reagent Y gives Z. What are X. Y and Z respectively?
2,8 €503 X (C4Hi0) (16 &55F 16 56 eh HEl s BO%D ZuCh ' sdd8Ra) 360,
X, 50850 Y & 35508 Z oD 8108, X, Y DO Z 0 BT 2

Options:

1.+



OH. KMnO,/H,

/\/ . o /\'c(

OH

j\ OH. Cu. 573K /X

Question Number : 158 Question Id : 4509387198 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following sets of reagents convert toluene to benzaldehyde?

1808 O S50 dEN S'OS & B0 TP T SPOTON?

A. ClL|hv; H,0,A C. KMnO,|OH"; H*
B. ClEIFE, H20 5 4 CPUzC}.leSz] H30+

Options :

A D
3.¢



Question Number : 159 Question Id : 4509387199 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
What are X and Y respectively in the following reactions?
b Y, o
800 505 X 000N Y €0 I 0)?

COOH

CO0C,H;
" X
+CGHOH @— 10
Ll COOC,H;
v
+CHOH ——» U +HCI
Options :
H. H
1. %
 C i Pyridine
H. DA
2.

Pyridine. H"
DORS.  HT



Pyridine.  Pyridine

OGS, DBES

4, %

Question Number : 160 Question Id : 4509387200 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

TUPAC names of the following compounds A and B are

806 e ¥aren A SHOAM) B © TUPAC &)

NH, N (CH;3),
A /l\/ B.
Cl
Options :
A = But-3-en-2-amine; B = 4-N. N-dimethylaminochlorobenzene

A = 25°56)-3-8300-2-0a00; B =4-N, N-BoD B S 50 028w

1. %
A = But-1-en-3-amine; B = 4-N. N-dimethylaminochlorobenzene
A=20580-1-5S3-0N0S:;  B=4-N. N-BOBO dS § 823088
2. %
A = But-1-en-3-amine; B = 4-Chloro-N. N-dimethylbenzenamine

A =20°563-1-885-3-DDR; B =4-55-N. N-BDZS BoBID&

A = But-3-en-2-amine; B = 4-Chloro-N. N-dimethylbenzenamine

A=200863-3-885-2-000R: B =4-5 0-N. N-B0ZS Z02830S
4.v



